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import numpy as np
xdata = np.array( [1,2,3])
ydata = np.array([0,5,15])
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import numpy as np
xdata = np.array( [1,2,3])
ydata = np.array([0,5,15])

from sympy import *
a0, al, x,y = symbols('a0, a1, x, y')

def func(x):
return a0+al*x

sum =0
foriinrange(0,3):
sum += (ydatali]-func(xdata[i]))**2

expand(sum)
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xdata = np.array([1,2,3])
ydata = np.array([0,5,15])
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import numpy as np
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xdata = np.array([1,2,3])
ydata = np.array([0,5,15])
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V = np.vander(xdata, N=3)

#BITOEESEL, Z10T 1> 0 /INGA—ZEKDET
a = np.linalg.solve(V, ydata)

print("a0:", a[0])

print("a1:",a[1])
print("a2:", a[2])

a0: 2.499999999999999
a1:-2.499999999999998
a2:-1.3322676295501882e-15
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